

LIMIT

- यदि  $\lim_{x \rightarrow 0} (2 - \cos x \sqrt{\cos 2x})^{\left(\frac{x+2}{x^2}\right)}$  का मान  $e^a$  है, तो  $a$  बराबर है \_\_\_\_\_।
- यदि  $\lim_{x \rightarrow 0} \frac{\alpha x e^x - \beta \log_e(1+x) + \gamma x^2 e^{-x}}{x \sin^2 x} = 10, \alpha, \beta, \gamma \in \mathbf{R}$  है, तो  $\alpha + \beta + \gamma$  का मान है \_\_\_\_\_।
- $\lim_{n \rightarrow \infty} \frac{1}{n} \sum_{j=1}^n \frac{(2j-1) + 8n}{(2j-1) + 4n}$  का मान बराबर है :  
 (1)  $5 + \log_e \left(\frac{3}{2}\right)$  (2)  $2 - \log_e \left(\frac{2}{3}\right)$   
 (3)  $3 + 2 \log_e \left(\frac{2}{3}\right)$  (4)  $1 + 2 \log_e \left(\frac{3}{2}\right)$
- $\lim_{x \rightarrow 0} \left( \frac{x}{\sqrt[8]{1 - \sin x} - \sqrt[8]{1 + \sin x}} \right)$  का मान बराबर है :  
 (1) 0 (2) 4 (3) -4 (4) -1
- $\lim_{x \rightarrow 2} \left( \sum_{n=1}^9 \frac{x}{n(n+1)x^2 + 2(2n+1)x + 4} \right)$  बराबर है -  
 (1)  $\frac{9}{44}$  (2)  $\frac{5}{24}$  (3)  $\frac{1}{5}$  (4)  $\frac{7}{36}$
- यदि  $\alpha, \beta$  समीकरण  $x^2 + bx + c = 0$ , के दो भिन्न मूल हैं, तो  $\lim_{x \rightarrow \beta} \frac{e^{2(x^2+bx+c)} - 1 - 2(x^2 + bx + c)}{(x - \beta)^2}$  बराबर है:  
 (1)  $b^2 + 4c$  (2)  $2(b^2 + 4c)$   
 (3)  $2(b^2 - 4c)$  (4)  $b^2 - 4c$
- यदि  $0 < x < 1$  तथा  $y = \frac{1}{2}x^2 + \frac{2}{3}x^3 + \frac{3}{4}x^4 + \dots$  हैं, तो  $x = \frac{1}{2}$  पर  $e^{1+y}$  का मान है :  
 (1)  $\frac{1}{2}e^2$  (2)  $2e$  (3)  $\frac{1}{2}\sqrt{e}$  (4)  $2e^2$
- यदि  $\lim_{x \rightarrow \infty} (\sqrt{x^2 - x + 1} - ax) = b$  है, तो क्रमित युग्म  $(a, b)$  है :  
 (1)  $\left(1, \frac{1}{2}\right)$  (2)  $\left(1, -\frac{1}{2}\right)$   
 (3)  $\left(-1, \frac{1}{2}\right)$  (4)  $\left(-1, -\frac{1}{2}\right)$

- $\lim_{x \rightarrow 0} \frac{\sin^2(\pi \cos^4 x)}{x^4}$  बराबर है :  
 (1)  $\pi^2$  (2)  $2\pi^2$  (3)  $4\pi^2$  (4)  $4\pi$
- यदि समीकरण  $ax^2 + bx - 4 = 0$  के मूल  $\alpha = \lim_{x \rightarrow \pi/4} \frac{\tan^3 x - \tan x}{\cos\left(x + \frac{\pi}{4}\right)}$  तथा  $\beta = \lim_{x \rightarrow 0} (\cos x)^{\cot x}$  हैं, तो क्रमित युग्म  $(a, b)$  है :  
 (1)  $(1, -3)$  (2)  $(-1, 3)$   
 (3)  $(-1, -3)$  (4)  $(1, 3)$
- माना  $f : \mathbf{R} \rightarrow \mathbf{R}$  एक संतत फलन है। तब  $\lim_{x \rightarrow \frac{\pi}{4}} \frac{\frac{\pi}{4} \int_{\frac{\pi}{4}}^{\sec^2 x} f(x) dx}{x^2 - \frac{\pi^2}{16}}$  बराबर है :  
 (1)  $f(2)$  (2)  $2f(2)$   
 (3)  $2f(\sqrt{2})$  (4)  $4f(2)$
- माना  $f(x) = x^6 + 2x^4 + x^3 + 2x + 3, x \in \mathbf{R}$  है। तब  $\lim_{x \rightarrow 1} \frac{x^n f(1) - f(x)}{x - 1} = 44$  के लिए प्राकृतिक संख्या  $n$  है \_\_\_\_\_।
- $\lim_{n \rightarrow \infty} \tan \left\{ \sum_{r=1}^n \tan^{-1} \left( \frac{1}{1+r+r^2} \right) \right\}$  बराबर है \_\_\_\_\_।
- $\lim_{n \rightarrow \infty} \left( 1 + \frac{1 + \frac{1}{2} + \dots + \frac{1}{n}}{n^2} \right)^n$  बराबर है :  
 (1)  $\frac{1}{2}$  (2) 0 (3)  $\frac{1}{e}$  (4) 1
- यदि  $\lim_{x \rightarrow 0} \frac{ax - (e^{4x} - 1)}{ax(e^{4x} - 1)}$  का अस्तित्व है तथा यह  $b$  के बराबर है, तो  $a - 2b$  का मान है \_\_\_\_\_।
- $\lim_{h \rightarrow 0} 2 \left\{ \frac{\sqrt{3} \sin\left(\frac{\pi}{6} + h\right) - \cos\left(\frac{\pi}{6} + h\right)}{\sqrt{3}h(\sqrt{3} \cosh - \sinh)} \right\}$  का मान है:  
 (1)  $\frac{4}{3}$  (2)  $\frac{2}{\sqrt{3}}$  (3)  $\frac{3}{4}$  (4)  $\frac{2}{3}$

17. माना  $\alpha \in \mathbb{R}$  इस प्रकार है कि फलन

$$f(x) = \begin{cases} \frac{\cos^{-1}(1-\{x\}^2)\sin^{-1}(1-\{x\})}{\{x\}-\{x\}^3}, & x \neq 0 \\ \alpha, & x = 0 \end{cases}$$

$x = 0$  पर संतत है, जहाँ  $\{x\} = x - [x]$ ,  $[x]$  महत्तम पूर्णांक  $\leq x$  है। तो

(1)  $\alpha = \frac{\pi}{\sqrt{2}}$

(2)  $\alpha = 0$

(3) इस प्रकार के  $\alpha$  का अस्तित्व नहीं है

(4)  $\alpha = \frac{\pi}{4}$

18. मान  $f : (0, 2) \rightarrow \mathbb{R}$ ,  $f(x) = \log_2 \left( 1 + \tan \left( \frac{\pi x}{4} \right) \right)$

द्वारा परिभाषित है। तो

$\lim_{n \rightarrow \infty} \frac{2}{n} \left( f\left(\frac{1}{n}\right) + f\left(\frac{2}{n}\right) + \dots + f(1) \right)$  बराबर है \_\_\_\_\_ ।

19. यदि  $\lim_{x \rightarrow 0} \frac{ae^x - b \cos x + ce^{-x}}{x \sin x} = 2$  है, तो  $a + b + c$

बराबर है \_\_\_\_\_ ।

20.  $\lim_{n \rightarrow \infty} \frac{[r] + [2r] + \dots + [nr]}{n^2}$ , जहाँ  $r$  एक शून्येतर वास्तविक संख्या है तथा  $[r]$  महत्तम पूर्णांक  $\leq r$  है, का मान बराबर है :

(1)  $\frac{r}{2}$       (2)  $r$       (3)  $2r$       (4)  $0$

21.  $\lim_{\theta \rightarrow 0} \frac{\tan(\pi \cos^2 \theta)}{\sin(2\pi \sin^2 \theta)}$  का मान बराबर है :

(1)  $-\frac{1}{2}$       (2)  $-\frac{1}{4}$       (3)  $0$       (4)  $\frac{1}{4}$

22.  $\lim_{x \rightarrow 0^+} \frac{\cos^{-1}(x - [x]^2) \cdot \sin^{-1}(x - [x]^2)}{x - x^3}$ , जहाँ  $[x]$

महत्तम पूर्णांक  $\leq x$  है, का मान है :

(1)  $\pi$       (2)  $0$       (3)  $\frac{\pi}{4}$       (4)  $\frac{\pi}{2}$

23. यदि  $\lim_{x \rightarrow 0} \frac{\sin^{-1} x - \tan^{-1} x}{3x^3} = L$  है, तो  $(6L + 1)$  का

मान है :

(1)  $\frac{1}{6}$       (2)  $\frac{1}{2}$       (3)  $6$       (4)  $2$

SOLUTION

1. Official Ans. by NTA (3)

Sol.  $\lim_{x \rightarrow 0} (2 - \cos x \sqrt{\cos x})^{\frac{x+2}{x^2}}$

form:  $1^\infty$

$= e^{\lim_{x \rightarrow 0} \left( \frac{1 - \cos x \sqrt{\cos 2x}}{x^2} \right) (x+2)}$

Now  $\lim_{x \rightarrow 0} \frac{1 - \cos x \sqrt{\cos 2x}}{x^2}$

$= \lim_{x \rightarrow 0} \frac{\sin x \sqrt{\cos 2x} - \cos x \times \frac{1}{2\sqrt{\cos 2x}} \times (-2 \sin 2x)}{2x}$

(by L' Hospital Rule)

$\lim_{x \rightarrow 0} \frac{\sin x \cos 2x + \sin 2x \cdot \cos x}{2x}$

$= \frac{1}{2} + 1 = \frac{3}{2}$

So,  $e^{\lim_{x \rightarrow 0} \left( \frac{1 - \cos x \sqrt{\cos 2x}}{x^2} \right) (x+2)}$

$= e^{\frac{3}{2} \times 2} = e^3$

$\Rightarrow \boxed{a=3}$

2. Official Ans. by NTA (3)

Sol.  $\lim_{x \rightarrow 0} \frac{\alpha x \left( 1 + x + \frac{x^2}{2} \right) - \beta \left( x - \frac{x^2}{2} + \frac{x^3}{3} \right) + \gamma x^2 (1-x)}{x^3}$

$\lim_{x \rightarrow 0} \frac{x(\alpha - \beta) + x^2 \left( \alpha + \frac{\beta}{2} + \gamma \right) + x^3 \left( \frac{\alpha}{2} - \frac{\beta}{3} - \gamma \right)}{x^3} = 10$

For limit to exist

$\alpha - \beta = 0, \alpha + \frac{\beta}{2} + \gamma = 0$

$\frac{\alpha}{2} - \frac{\beta}{3} - \gamma = 10 \dots\dots(i)$

$\beta = \alpha, \gamma = -3\frac{\alpha}{2}$

Put in (i)

$\frac{\alpha}{2} - \frac{\alpha}{3} + \frac{3\alpha}{2} = 10$

$\frac{\alpha}{6} + \frac{3\alpha}{2} = 10 \Rightarrow \frac{\alpha + 9\alpha}{6} = 10$

$\Rightarrow \alpha = 6$

$\alpha = 6, \beta = 6, \gamma = -9$

$\alpha + \beta + \gamma = 3$

3. Official Ans. by NTA (4)

Sol.  $\lim_{n \rightarrow \infty} \frac{1}{n} \sum_{j=1}^n \left( \frac{\frac{2j}{n} - \frac{1}{n} + 8}{\frac{2j}{n} - \frac{1}{n} + 4} \right)$

$\int_0^1 \frac{2x+8}{2x+4} dx = \int_0^1 dx + \int_0^1 \frac{4}{2x+4} dx$

$= 1 + 4 \frac{1}{2} (\ln|2x+4|)_0^1$

$= 1 + 2 \ln \left( \frac{3}{2} \right)$

## 4. Official Ans. by NTA (3)

$$\begin{aligned}
 \text{Sol. } \lim_{x \rightarrow 0} \left( \frac{x}{\sqrt[8]{1-\sin x} - \sqrt[8]{1+\sin x}} \right) \\
 &= \lim_{x \rightarrow 0} \left( \frac{x}{\sqrt[8]{1-\sin x} + \sqrt[8]{1+\sin x}} \right) \\
 &= \lim_{x \rightarrow 0} \left( \frac{x}{\sqrt[8]{1-\sin x} + \sqrt[8]{1+\sin x}} \right) \\
 &\quad \left( \frac{(\sqrt[8]{1-\sin x} + \sqrt[8]{1+\sin x})}{\sqrt[8]{1-\sin x} + \sqrt[8]{1+\sin x}} \right) \\
 &\quad \left( \frac{(\sqrt[4]{1-\sin x} + \sqrt[4]{1+\sin x})}{\sqrt[4]{1-\sin x} + \sqrt[4]{1+\sin x}} \right) \\
 &\quad \left( \frac{(\sqrt[2]{1-\sin x} + \sqrt[2]{1+\sin x})}{\sqrt[2]{1-\sin x} + \sqrt[2]{1+\sin x}} \right) \\
 &= \lim_{x \rightarrow 0} \left( \frac{x}{1-\sin x - (1+\sin x)} \right) \\
 &\quad (\sqrt[8]{1-\sin x} + \sqrt[8]{1+\sin x}) \\
 &\quad (\sqrt[4]{1-\sin x} + \sqrt[4]{1+\sin x}) \\
 &\quad (\sqrt[2]{1-\sin x} + \sqrt[2]{1+\sin x}) \\
 &= \lim_{x \rightarrow 0} \frac{x}{(-2\sin x)} (\sqrt[8]{1-\sin x} + \sqrt[8]{1+\sin x}) \\
 &\quad (\sqrt[4]{1-\sin x} + \sqrt[4]{1+\sin x}) \\
 &\quad (\sqrt[2]{1-\sin x} + \sqrt[2]{1+\sin x}) \\
 &= \lim_{x \rightarrow 0} \left( -\frac{1}{2} \right) (2) (2) (2) \left\{ \because \lim_{x \rightarrow 0} \frac{\sin x}{x} = 1 \right\} = -4
 \end{aligned}$$

## 5. Official Ans. by NTA (1)

$$\begin{aligned}
 \text{Sol. } S &= \lim_{x \rightarrow 2} \sum_{n=1}^9 \frac{x}{n(n+1)x^2 + 2(2n+1)x + 4} \\
 S &= \sum_{n=1}^9 \frac{2}{4(n^2 + 3n + 2)} = \frac{1}{2} \sum_{n=1}^9 \left( \frac{1}{n+1} - \frac{1}{n+2} \right) \\
 S &= \frac{1}{2} \left( \frac{1}{2} - \frac{1}{11} \right) = \frac{9}{44}
 \end{aligned}$$

## 6. Official Ans. by NTA (3)

$$\begin{aligned}
 \text{Sol. } \lim_{x \rightarrow \beta} \frac{e^{2(x^2+bx+c)} - 1 - 2(x^2+bx+c)}{(x-\beta)^2} \\
 \Rightarrow \lim_{x \rightarrow \beta} \frac{1 \left( 1 + \frac{2(x^2+bx+c)}{1!} + \frac{2^2(x^2+bx+c)^2}{2!} + \dots \right) - 1 - 2(x^2+bx+c)}{(x-\beta)^2} \\
 \Rightarrow \lim_{x \rightarrow \beta} \frac{2(x^2+bx+1)^2}{(x-\beta)^2} \\
 \Rightarrow \lim_{x \rightarrow \beta} \frac{2(x-\alpha)^2(x-\beta)^2}{(x-\beta)^2} \\
 \Rightarrow 2(\beta-\alpha)^2 = 2(b^2 - 4c)
 \end{aligned}$$

## 7. Official Ans. by NTA (1)

$$\begin{aligned}
 \text{Sol. } y &= \left( 1 - \frac{1}{2} \right) x^2 + \left( 1 - \frac{1}{3} \right) x^3 + \dots \\
 &= (x^2 + x^3 + x^4 + \dots) - \left( \frac{x^2}{2} + \frac{x^3}{3} + \frac{x^4}{4} + \dots \right) \\
 &= \frac{x^2}{1-x} + x - \left( x + \frac{x^2}{2} + \frac{x^2}{3} + \dots \right) \\
 &= \frac{x}{1-x} + \ln(1-x) \\
 x &= \frac{1}{2} \Rightarrow y = 1 - \ln 2
 \end{aligned}$$

$$e^{1+y} = e^{1+\ln 2}$$

$$= e^{2-\ln 2} = \frac{e^2}{2}$$

8. Official Ans. by NTA (2)

Sol.  $\lim_{x \rightarrow \infty} (\sqrt{x^2 - x + 1}) - ax = b \quad (\infty - \infty)$

$\Rightarrow a > 0$

Now,  $\lim_{x \rightarrow \infty} \frac{(x^2 - x + 1 - a^2 x^2)}{\sqrt{x^2 - x + 1} + ax} = b$

$\Rightarrow \lim_{x \rightarrow \infty} \frac{(1 - a^2)x^2 - x + 1}{\sqrt{x^2 - x + 1} + ax} = b$

$\Rightarrow \lim_{x \rightarrow \infty} \frac{(1 - a^2)x^2 - x + 1}{x \left( \sqrt{1 - \frac{1}{x} + \frac{1}{x^2}} + a \right)} = b$

$\Rightarrow 1 - a^2 = 0 \Rightarrow a = 1$

Now,  $\lim_{x \rightarrow \infty} \frac{-x + 1}{x \left( \sqrt{1 - \frac{1}{x} + \frac{1}{x^2}} + a \right)} = b$

$\Rightarrow \frac{-1}{1 + a} = b \Rightarrow b = -\frac{1}{2}$

$(a, b) = \left( 1, -\frac{1}{2} \right)$

9. Official Ans. by NTA (3)

Sol.  $\lim_{x \rightarrow 0} \frac{\sin^2(\pi \cos^4 x)}{x^4}$

$\lim_{x \rightarrow 0} \frac{1 - \cos(2\pi \cos^4 x)}{2x^4}$

$\lim_{x \rightarrow 0} \frac{1 - \cos(2\pi - 2\pi \cos^4 x)}{[2\pi(1 - \cos^4 x)]^2} \cdot 4\pi^2 \cdot \frac{\sin^4 x}{2x^4} (1 + \cos^2 x)^2$

$= \frac{1}{2} \cdot 4\pi^2 \cdot \frac{1}{2} (2)^2 = 4\pi^2$

10. Official Ans. by NTA (4)

Sol.  $\alpha = \lim_{x \rightarrow \frac{\pi}{4}} \frac{\tan^3 x - \tan x}{\cos\left(x + \frac{\pi}{4}\right)} ; \frac{0}{0}$  form

Using L Hopital rule

$\alpha = \lim_{x \rightarrow \frac{\pi}{4}} \frac{3 \tan^2 x \sec^2 x - \sec^2 x}{-\sin\left(x + \frac{\pi}{4}\right)}$

$\Rightarrow \alpha = -4$

$\beta = \lim_{x \rightarrow 0} (\cos x)^{\cot x} = e^{\lim_{x \rightarrow 0} \frac{(\cos x - 1)}{\tan x}}$

$\lim_{x \rightarrow 0} \frac{-(1 - \cos x)}{x^2} \cdot \frac{x^2}{\left(\frac{\tan x}{x}\right)^x}$   
 $\beta = e$

$\beta = e^{\lim_{x \rightarrow 0} \left(\frac{-1}{2}\right) \cdot \frac{x}{1}} = e^0 \Rightarrow \beta = 1$

$\alpha = -4 ; \beta = 1$

If  $ax^2 + bx - 4 = 0$  are the roots then

$16a - 4b - 4 = 0$  &  $a + b - 4 = 0$

$\Rightarrow a = 1$  &  $b = 3$

11. Official Ans. by NTA (2)

Sol.  $\lim_{x \rightarrow \frac{\pi}{4}} \frac{\frac{\pi}{4} \int_{\frac{\pi}{4}}^{\sec^2 x} f(x) dx}{x^2 - \frac{\pi^2}{16}}$

$\lim_{x \rightarrow \frac{\pi}{4}} \frac{\pi}{4} \cdot \frac{[f(\sec^2 x) \cdot 2 \sec x \cdot \sec x \tan x]}{2x}$

$\lim_{x \rightarrow \frac{\pi}{4}} \frac{\pi}{4} f(\sec^2 x) \cdot \sec^3 x \cdot \frac{\sin x}{x}$

$\frac{\pi}{4} f(2) \cdot (\sqrt{2})^3 \cdot \frac{1}{\sqrt{2}} \times \frac{4}{\pi}$

$\Rightarrow 2f(2)$

**12. Official Ans. by NTA (7)**

**Sol.**  $f(n) = x^6 + 2x^4 + x^3 + 2x + 3$

$$\lim_{x \rightarrow 1} \frac{x^n f(1) - f(x)}{x - 1} = 44$$

$$\lim_{x \rightarrow 1} \frac{9x^n - (x^6 + 2x^4 + x^3 + 2x + 3)}{x - 1} = 44$$

$$\lim_{x \rightarrow 1} \frac{9nx^{n-1} - (6x^5 + 8x^3 + 3x^2 + 2)}{1} = 44$$

$$\Rightarrow 9n - (19) = 44$$

$$\Rightarrow 9n = 63$$

$$\Rightarrow n = 7$$

**13. Official Ans. by NTA (1)**

**Sol.**  $\lim_{n \rightarrow \infty} \tan \left( \sum_{r=1}^n \tan^{-1} \left( \frac{1}{1+r(r+1)} \right) \right)$

$$= \lim_{n \rightarrow \infty} \tan \left( \sum_{r=1}^n \tan^{-1} \left( \frac{r+1-r}{1+r(r+1)} \right) \right)$$

$$= \tan \left( \lim_{n \rightarrow \infty} \sum_{r=1}^n [\tan^{-1}(r+1) - \tan^{-1}(r)] \right)$$

$$= \tan \left( \lim_{n \rightarrow \infty} \left( \tan^{-1}(n+1) - \frac{\pi}{4} \right) \right)$$

$$= \tan \left( \frac{\pi}{4} \right) = 1$$

**14. Official Ans. by NTA (4)**

**Sol.** Given limit is of  $1^\infty$  form

$$\text{So, } l = \exp \left( \lim_{n \rightarrow \infty} \frac{1 + \frac{1}{2} + \frac{1}{3} + \dots + \frac{1}{n}}{n} \right)$$

Now,

$$0 \leq 1 + \frac{1}{2} + \frac{1}{3} + \dots + \frac{1}{n} \leq 1 + \frac{1}{\sqrt{2}} + \frac{1}{\sqrt{3}} + \dots + \frac{1}{\sqrt{n}} \\ \leq 2\sqrt{n} - 1$$

So,  $l = \exp(0)$  (from sandwich theorem)

$$= 1$$

**15. Official Ans. by NTA (5)**

**Sol.**  $\lim_{x \rightarrow 0} \frac{ax - (e^{4x} - 1)}{ax(e^{4x} - 1)} \quad \left( \frac{0}{0} \right)$

$$= \lim_{x \rightarrow 0} \frac{ax - (e^{4x} - 1)}{ax \cdot 4x} \quad \boxed{\text{Use } \lim_{x \rightarrow 0} \frac{e^{4x} - 1}{4x} = 1}$$

Apply L'Hospital Rule

$$= \lim_{x \rightarrow 0} \frac{a - 4e^{4x}}{8ax} \quad \left( \frac{a-4}{0} \text{ form} \right)$$

limit exists only when  $a - 4 = 0 \Rightarrow a = 4$

$$= \lim_{x \rightarrow 0} \frac{4 - 4e^{4x}}{32x}$$

$$= \lim_{x \rightarrow 0} \frac{1 - e^{4x}}{8x} \quad \left( \frac{0}{0} \right)$$

$$= \lim_{x \rightarrow 0} \frac{-e^{4x} \cdot 4}{8} = -\frac{1}{2} \Rightarrow b = -\frac{1}{2}$$

$$a - 2b = 4 - 2 \left( -\frac{1}{2} \right)$$

$$= 5$$

**16. Official Ans. by NTA (1)**

**Sol.**  $L = \lim_{h \rightarrow 0} 2 \frac{\left( \sqrt{3} \left( \frac{1}{2} \cosh + \frac{\sqrt{3}}{2} \sinh \right) - \left( \frac{\sqrt{3}}{2} \cosh - \frac{\sinh}{2} \right) \right)}{(\sqrt{3}h)(\sqrt{3})}$

$$L = \lim_{h \rightarrow 0} \frac{4 \sinh}{3h}$$

$$\Rightarrow L = \frac{4}{3}$$

17. Official Ans by NTA (3)

Sol.  $\lim_{x \rightarrow 0^+} f(x) = f(0) = \lim_{x \rightarrow 0^-} f(x)$

$$\lim_{x \rightarrow 0^+} \frac{\cos^{-1}(1-x^2) \cdot \sin^{-1}(1-x)}{x(1-x)(1+x)}$$

$$\lim_{x \rightarrow 0^+} \frac{\cos^{-1}(1-x^2)}{x \cdot 1 \cdot 1} \cdot \frac{\pi}{2}$$

Let  $1-x^2 = \cos \theta$

$$\frac{\pi}{2} \lim_{x \rightarrow 0^+} \frac{\theta}{\sqrt{1-\cos\theta}}$$

$$\frac{\pi}{2} \lim_{\theta \rightarrow 0^+} \frac{\theta}{\sqrt{2} \sin \frac{\theta}{2}} = \frac{\pi}{\sqrt{2}}$$

Now,  $\lim_{x \rightarrow 0^-} \frac{\cos^{-1}(1-(1+x)^2) \sin^{-1}(-x)}{(1+x)-(1+x)^3}$

$$\lim_{x \rightarrow 0^-} \frac{\frac{\pi}{2}(-\sin^{-1} x)}{(1+x)(2+x)(-x)}$$

$$\lim_{x \rightarrow 0^-} \frac{\frac{\pi}{2} \cdot \sin^{-1} x}{1 \cdot 2 \cdot x} = \frac{\pi}{4}$$

$\Rightarrow$  RHL  $\neq$  LHL

Function can't be continuous

$\Rightarrow$  No value of  $\alpha$  exist

18. Official Ans. by NTA (1)

Sol.  $E = 2 \lim_{n \rightarrow \infty} \sum_{r=1}^n \frac{1}{n} f\left(\frac{r}{n}\right)$

$$E = \frac{2}{\ln 2} \int_0^1 \ln\left(1 + \tan \frac{\pi x}{4}\right) dx \quad \dots(i)$$

replacing  $x \rightarrow 1-x$

$$E = \frac{2}{\ln 2} \int_0^1 \ln\left(1 + \tan \frac{\pi}{4}(1-x)\right) dx$$

$$E = \frac{2}{\ln 2} \int_0^1 \ln\left(1 + \tan\left(\frac{\pi}{4} - \frac{\pi}{4}x\right)\right) dx$$

$$E = \frac{2}{\ln 2} \int_0^1 \ln\left(1 + \frac{1 + \tan \frac{\pi}{4}x}{1 + \tan \frac{\pi}{4}x}\right) dx$$

$$E = \frac{2}{\ln 2} \int_0^1 \ln\left(\frac{2}{1 + \tan \frac{\pi x}{4}}\right) dx$$

$$E = \frac{2}{\ln 2} \int_0^1 \left(\ln 2 - \ln\left(1 + \tan \frac{\pi x}{4}\right)\right) dx \quad \dots(ii)$$

equation (i) + (ii)

$$E = 1$$

19. Official Ans. by NTA (4)

Sol.  $\lim_{x \rightarrow 0} \frac{ae^x - b \cos x + ce^{-x}}{x \sin x} = 2$

$$\Rightarrow \lim_{x \rightarrow 0} \frac{a\left(1+x+\frac{x^2}{2!}+\dots\right) - b\left(1-\frac{x^2}{2!}+\dots\right) + c\left(1-x+\frac{x^2}{2!}\right)}{\left(\frac{x \sin x}{x}\right)x} = 2$$

$$a - b + c = 0 \quad \dots(1)$$

$$a - c = 0 \quad \dots(2)$$

$$\& \frac{a+b+c}{2} = 2$$

$$\Rightarrow \boxed{a+b+c=4}$$

**20. Official Ans. by NTA (1)**

**Sol.** We know that

$$r \leq [r] < r + 1$$

and  $2r \leq [2r] < 2r + 1$

$$3r \leq [3r] < 3r + 1$$

$$\vdots \quad \vdots \quad \vdots$$

$$nr \leq [nr] < nr + 1$$

---


$$r + 2r + \dots + nr$$

$$\leq [r] + [2r] + \dots + [nr] < (r + 2r + \dots + nr) + n$$

$$\frac{n(n+1)}{2} \cdot r \leq \frac{[r] + [2r] + \dots + [nr]}{n^2} < \frac{n(n+1)}{2} r + n$$

Now,

$$\lim_{n \rightarrow \infty} \frac{n(n+1) \cdot r}{2 \cdot n^2} = \frac{r}{2}$$

and  $\lim_{n \rightarrow \infty} \frac{\frac{n(n+1)r}{2} + n}{n^2} = \frac{r}{2}$

So, by Sandwich Theorem, we can conclude that

$$\lim_{n \rightarrow \infty} \frac{[r] + [2r] + \dots + [nr]}{n^2} = \frac{r}{2}$$

**Ans. (1)**

**21. Official Ans. by NTA (1)**

**Sol.**  $\lim_{\theta \rightarrow 0} \frac{\tan(\pi(1 - \sin^2 \theta))}{\sin(2\pi \sin^2 \theta)}$

$$= \lim_{\theta \rightarrow 0} \frac{-\tan(\pi \sin^2 \theta)}{\sin(2\pi \sin^2 \theta)}$$

$$= \lim_{\theta \rightarrow 0} - \left( \frac{\tan(\pi \sin^2 \theta)}{\pi \sin^2 \theta} \right) \left( \frac{2\pi \sin^2 \theta}{\sin(2\pi \sin^2 \theta)} \right) \times \frac{1}{2}$$

$$= \frac{-1}{2} \quad \text{Option (1)}$$

**22. Official Ans. by NTA (4)**

**Sol.**  $\lim_{x \rightarrow 0^+} \frac{\cos^{-1} x}{(1-x^2)} \times \frac{\sin^{-1} x}{x} = \frac{\pi}{2}$

**23. Official Ans. by NTA (4)**

**Sol.**  $\lim_{x \rightarrow 0} \frac{\left( x + \frac{x^3}{3!} \dots \right) - \left( x - \frac{x^3}{3} \dots \right)}{3x^3} = \frac{1}{6}$

So  $6L + 1 = 2$